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Answer ALL questions.

The box shows the names of some substances.

; methane nitrogen

sulfur dioxide

bromine carbon dioxide copper iodine

water

(@) Complete the table by choosing substances from the box that match the

description.

Each substance may be used once, more than once or not at all.

| Description Substance

. . o ("T Can - o
| a good conductor of electricity _opee”

— . Simd

i an element that has a basic oxide CLWQ/

- S i

i a substance used as a fuel Mebheas

| i e : S

' @ major cause of acid rain QJ,\X‘,.\\W( o Sxiele

“ i
| @ non-metallic element that is a solid | \ L
! at room temperature | Jolime-~

|

Bl Ry g Wody Ut W Cafomn diowte 8 preset W

(b) Describe a test for carbon dioxide.

(Total for Question 1 = 7 marks)
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(a) Table 1 gives some information about three subatomic particles.

(i) Complete Table 1 by giving the missing information.

Subatomic particle @ Relative mass ~ Relative charge f

electron . 00005 | )

-
-

| proton
l_

i

i neutron
L

Table 1

(i) Give the name of the part of the atom containing protons and neutrons.

(b) Table 2 shows the numbers of protons, neutrons and electrons in the
species U,V, W, X, Y and Z.

| Species Number of protons = Number of neutrons Number of electrons

8 ! 10 8

U

9 10 10

|
|
T
{
|
{

W 11 12 10

i l
l |
: |
| |
; 1
X 11 | 12 i 11
i I....,,
! |
| [
: .

Y

12 12

12

Z 13

12 12

Table 2

O

e
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Y T o Vo SR
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LORE YA

VoM CHLL AL 3 1 IS AR
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Use the information in Table 2 to answer these questions.
Each species may be used once, more than once or not at all.

(i) Give the letter of the species that has six electrons in its outer shell.

©: (ii) Give the mass number of Z.

> | -~

(iii) Give the letter of the species that is a positive ion.

w

(iv) Give the letters of the two species that are isotopes of the same element.

| 2 i : i

= | (c) A sample of neon contains two isotopes, *’Ne and *Ne

B The relative abundances of the two isotopes in the sample are

“Ne 91.2% 2Ne 8.80%

} Calculate the relative atomic mass of this sample of neon.

1 Give your answer to one decimal place.
i {l, - Or—f\»’L ({’[ﬁ) X O\QX?, T’( ?’(3 §
7
| = 1W.\3(
\
|

e | L
s | o1

= | relative atomic mass =

o: | (Total for Question 2 = 11 marks)

e



3 Some sugar is added to cold water in a beaker.

After some time, all the sugar dissolves and spreads throughout the water.

(a) (i) Name the process that occurs which causes the sugar to spread throughout
the water.

’ q%
C\l\ (‘ ASHON

(i) State two ways to make the sugar dissolve more quickly.

Sl{ S \\M ”\_, J LWk paalue

\& ab b\"‘_. ‘MM'L\,J"

Gied One < wt?c v b owoew ke SfftG ca-

(b) Pure water can be obtained from the sugar solution using this apparatus.

T water out

water in T

T

heat

(i) Name the process used to obtain pure water from the sugar solution.

; (ii) Explain the purpose of the piece of apparatus labelled X.

(Total for Question 3 = 6 marks)
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4 A student uses paper chromatography in an experiment to separate the dyes in four

different food colourings, E, F, G and H.

The diagram shows the appearance of the paper before and after the experiment.

level reached
|~ by solvent

before after

(@) (i) Describe how the student should complete the experiment after putting a
spot of each food colouring on the paper.

?&J BL(\\{ &\\;eﬁl \n\c C 11 \u/
........ e (& lQ\’U S\,\w{
..»....kwe_ O @W R .@u Shet o) Qe Short S

me&‘f\'@af”g“‘h\\i S‘M‘ E(““*f Sl u“w 'CL C‘f}

A

Pl g {Cﬁ i Be Shert, v ) A dbs g f "’(‘OP)C"" |
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W
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(i) Deduce the number of dyes in food colouring H.

(ifi) Suggest why food colouring F does not move during the experiment.

B F s sl W St |

(iv) Explain which two food colourings contain the dye that is likely to be the
most soluble in the solvent.

© DO NOT WRIT

(b) Determine which food colouring contains a dye with R; value closest to 0.67

Show your working.

D%h(r\(_ﬁ '“‘@V(MP_,Q_‘ ‘ci.) QL\\JU\\E = Q(:,,-'\ @@M d\(}_bfm\\'\
D\"S‘Cop\(:, taoeled Bj o\gq, S 0.6 6= [__,".OfL (‘_{“

| m /\\:u, C\ﬁ)i‘- WA ’EC{'(Q (Acw;\f\-\ 6 l‘"mb ,.-\;L\r(}“ S’D ‘\f\€\,§
| C % \ig\xw. Ch‘@ﬂ;‘ Xe Q- 6]. =

DONOTWRITEINTHISAREA =~ *

'DONOTWRITEINTHISAREA' /77

(Total for Question 4 = 10 marks)
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- 5 This question is about alkanes and alkenes.

(a) (i) Complete the boxes by giving the missing information about the alkane with .
the molecular formula CHg |

¥al\Walsg

molecular formula C,Hs S
TEEE—— — — _i.....—v--v—-- S —— ) i g Srivien
name i CMone

empirical formula | L, ‘\J\g

HAMY ST NS

1

) 3
E displayed formula \’\ i C, > = v
‘ \
'

=

I
(i) Complete the chemical equation for the complete combustion of the alkane C,H; | -
(1) |

2 2 |
| CHe + 2.0, > . £.CO, + .2 H,0 E

(i) Incomplete combustion occurs when the air supply is limited.

Give the names of two products of incomplete combustion.

YIMY SIHENIILINMION O

2 Ceoon

(b) An alkene with molecular formula C,H, reacts with bromine to form a compound
with molecular formula C,HgBr, |

\

L&) i
1 GJS(\DG\ f\onotcke : -3
| &

(i) What is the name of this type of reaction? | T

il addition . |
decomposition

precipitation

O N W >

‘ O
| O
O

substitution

10

e
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} different structural formulae.

1

|

|

(i) Draw displayed formulae for two different alkenes with the
molecular formula C,H;

alkene 1

H

‘Q=C-C-H
/ | |
b )~ C-H A

|
| h

(iii) State the term used for compounds with the same molecular formula but

B

alkene 2

(c) The alkene C;H, can be polymerised to form the polymer poly(propene).

() Complete the equation for this polymerisation reaction.

e
Al
H H

t
|
= C

\
s

—

(Mo
\
(;
\
1
N

11
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(i) Two ways of disposing of polymers such as poly(propene) are
® burying them in landfill sites

® burning them to release heat energy

Discuss the environmental problems caused by these two methods of disposal.

Py 5 buigd o land 3\‘* Qi @@ugw?hwb“

B” X Ji\r\)u (%(,\,3 n(F ﬁ;fgr]w(w uimm( \)L 3t~§

(Total for Question 5 = 15 marks)
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6 This question is about some of the Group 1 elements and their compounds.

4

(a) Ateacher adds a small piece of lithium to water in a trough.

(i) Give three observations that are made when lithium reacts with water.

LNK\ W u/(_’DQ{_ ..J‘.“\.\:U\L ( l S(\(‘gx &\ﬁ

M%%gmwwmﬁmgg;i;iigj;;

2 L';\\\;mﬂ MRS

(i) After the reaction has finished, the teacher adds a few drops of
universal indicator to the solution in the trough.

Explain the colour of the universal indicator after it is added to the solution.

Uf.x\lﬁ,rm,\ ndiCakor j(wff"S pru_ as thee Qe L\Dcmx\cu \6n S fnz Sunt -

(iii) Write a chemical equation for the reaction of lithium with water.

(b) A student does a flame test to see if a white solid contains sodium ions.

s P WG = O ¥ iy

She cleans a platinum wire before using it for the flame test.

(i) Explain why the student needs to clean the platinum wire.

{'\L Cﬂ\_y_( L!‘\.\ﬁ

VR 0 A OO 000

o
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(ii) Which of these is the colour of the flame if the solid contains sodium ions?
(] A green
[ B lilac
(] € red
Kl D vyellow

(c) Potassium sulfate (K,SO,) is an ionic compound.

(i) Give the formula of each ion in potassium sulfate.

A
POtassium ioN ..., sulfate ion ...

(i) The melting point of potassium sulfate is 1069°C.
Explain why potassium sulfate has a high melting point.

Refer to structure and bonding in your answer.

[ AY
L4 )

Yo

P esin Obvjvf.}ﬁE%Pfi...... hoy o Glork itnic  Shnckse Wit o g
b Yo s 05 5 G b S Gy Bt
akadeo Si)wﬂf‘t__. Qu OW"S‘“J Qg s U g ey
2 W\LLN‘\

‘UD _‘)-‘(= U}L_

(Total for Question 6 = 15 marks)
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7 Astudent investigates the reaction between magnesium and hydrochloric acid.
He uses this method.
Step 1 add 25cm’ of dilute hydrochloric acid to a polystyrene cup
Step 2 record the temperature of the acid
Step 3 find the mass of a 10cm strip of magnesium ribbon
Step 4 add the magnesium ribbon to the hydrochloric acid

Step 5 when all the magnesium has reacted, record the highest temperature
reached a

(a) Complete the word equation for the reaction.

: . . . (“\G ARSI CJ‘E/\L:;Q(:Q\;L
| magnesitim.+ bydrothlofCagitl < ... mglmmmmmosmmssmmmmssss

j (b) The thermometer shows the temperature of the acid at the start of the experiment.

. °Cl = |25 E

20

|

(i) Complete the table by giving the temperatures to the nearest 0.1°C.

| r '1 |

! ' temperature of the acid at the startin°C | 77~ | |

| ” | - |

‘ b \ i
i highest temperature reached in °C | Y4231 | |
1 ] """ ) B !
' temperature rise in °C * 20.8 | |

16

N

TEE S

RSN
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(i) Show that the heat energy change (Q) for this reaction is about 2200 J.
[mass of 1.0cm’ of solution = 1.0g]

[for the solution, c = 4.21/g/°C]
@ = ¥RC d—5}

=15+ LWilwpl ‘X@

——
(iii) The mass of magnesium used by the student was 0.12g.

Calculate the value of the enthalpy change (AH), in kilojoules per mole of
magnesium, for the reaction between magnesium and hydrochloric acid.

Include a sign in your answer.

D Uw\i)\ -3 gi

Mk = (.005%e pae)

- . {300 T Ml
OC.00% P
= 3¢ K Ml

AH= ...

(Total for Question 7 = 9 marks)

e KJ/Mo

[
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(@) A scientist finds an unlabelled bottle on a shelf.
She thinks the bottle contains a solution of ammonium sulfate, (NH,),50,

Describe tests the scientist could do to show that the solution is ammonium sulfate

R e
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(b) Ammonium sulfate is often used as a fertiliser.
It is prepared by reacting ammonia (NH;) with sulfuric acid (H,S0,).

(i) Name the type of reaction that occurs between ammonia and sulfuric acid.

(i) Write a chemical equation for the reaction of ammonia with sulfuric acid.

(iii) Draw a dot-and-cross diagram to show the bonding in a molecule of ammonia.

Show outer electrons only.

N o S cdoun -

(Total for Question 8 = 10 marks)

I
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9 Astudent uses this apparatus to investigate the rate of reaction between marble chips and

dilute hydrochloric acid.

cotton wool

marble chips
dilute hydrochloric acid

[ 230 EEg J/ balance

The equation for the reaction is
CaCO; + 2HCl — Cacl, + H,0 + CO,

(a) During the reaction the mass of the contents of the flask decreases.

(i) State why the mass of the contents of the flask decreases.

(ii) State the purpose of the cotton wool.

To prevek nr"“w (\ VU‘D Qu quic

(iii) Explain why sulfuric acid is not a suitable acid to use in this investigation.

_L\Su Luh\,(_ C-QJ\L’\LLJN\ gk\f‘w‘\k_ Loonld g’ﬂ“ . “ (‘um‘) il % MCUQDL- O\ \Pj)

g‘vﬁﬂ«mh\ | @\u_‘ T&C{hzﬁ (m {HM (f\)m,m\)

T 0 O 0 urm over



(b) The graph shows the student’s results.

0.7
0.6
0.5

. 044
Decrease in mass

L ing 1
| 0.3
0.2

0.1

0 . T T T T T T |
0 2 4 6 8 10 12 14
Time in minutes

(i) Inthe investigation the marble chips are in excess.

Explain the shape of the graph.

W\L Cu,(\(% ‘5 Sh,{pubb CUG ‘(i/\a. 5'@@1 0\5 ﬂ'\s VS \.J.rwﬂ Q]u umc

(}(ﬁti&m \s \\\ \)\%s’o Tfu (Sradmwk o ‘Q\f\z Qm«_j-‘ ()\M Q4 bh&

oud (_Q?C&J\baﬁw\ ClaGrercs . TY\» w&_ has o gl Ls (\(&)uw
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(i) The student repeats the experiment using the same volume of hydrochloric acid but
of half the concentration of the original acid. All other conditions are kept the same.

On the grid, draw the curve the student would obtain.

(c) Explain, using particle collision theory, how increasing the temperature affects the
rate of a reaction.

Q”‘“lc\w“wr;pﬂf\’

bwfmwwt(fw*@\hmﬁm@ﬂ“ﬂ*ﬁqmswwlwm

(Total for Question 9 = 14 marks)
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10 (a) The diagram shows the apparatus a teacher uses to determine the formula of an
oxide of lead.

an oxide of lead hydrogen burning

\ / / hole

s

hydrogen —»
reduction tube

| This is the teacher’s method.

} Step 1 find the mass of the reduction tube
Step 2 add some of the lead oxide to the reduction tube
Step 3 find the mass of the reduction tube and lead oxide

Step 4 pass hydrogen gas over the lead oxide and ignite the hydrogen at
! the hole

Step 5 heat the lead oxide strongly for 10 minutes

Step 6 keep passing hydrogen through the reduction tube until the tube
and contents are cool

Step 7 find the new mass of the reduction tube and its contents

(i) Give areason why hydrogen is passed through the reduction tube until the
tube and contents are cool.

| (i) Describe what the teacher should do next to make sure all the lead oxide has
been reduced to lead.

| fegak O healin

F-Y

2
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(b) The teacher completes the experiment and obtains these results.

mass of reduction tube =23.50 g
mass of tube + lead oxide = 28.64 g
mass of tube + lead = 28.16 g

(i) Calculate the mass of lead formed.

L B

L 6,

Turn over -

massoflead= ... .. ' 77 ....¢@

(ii) Calculate the mass of oxygen removed from the lead oxide. .
I
o-uf |
6 F L o G A — . I
! (iii) Determine the empirical formula of the lead oxide.
| b O |
| i 3 |
| Moss bl 0 \¥ |
| Bp— Re |
1R\ Lo Ve |
o.Qusy 093 |

ﬁ _ 7 o tH3

= %m(j'u\l\?%‘( O -CQ:LS\"L -
; -~ \ .\ ‘ N %—3 |
| o
| ®= s - p\j 0O
empirical formula of the lead oxide ...~ 5.5
| . 5 .
-1 ! %.‘\\?‘\'{-\(:f ‘..\ QCYMW\Q'\ ﬁ/&) o OL_f I
! N |
| i
'1
| i
s i
\ !
1 |
| |
|
25



(c) The insoluble salt lead(ll) chloride (PbCl,) can be prepared by reacting a solution
of lead(ll) nitrate with dilute hydrochloric acid.

(i) Complete the equation for the reaction by adding the state symbols.

PBINO;),(@4,) + 2HCLEG.) — PbCL(.S.) + 2HNO O

(i) Show that the maximum mass of lead(ll) chloride that can be made from
0.0370 mol of hydrochloric acid is about 5 g.

[M, of PbCl, = 278]
N (?b(\\‘i,} = O:’}I = O.0\%S m)

A=

P‘)LQ&)Q\Q z nl M\ = (clq%) 40- ()\%5

- G \\-VB') '-}f»%)

L-- =
. >iL3 |
MaxiMUM MASS = ..ot G
(Total for Question 10 = 13 marks)
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